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The free morpheme in the word ' institutionalization' is:  
Statute 
Institute 

Institution 

Institutionalize 
 

Which of the following is illustrated by the word ' infomercial' : 

Compounding  
endBl 

Clipping  

Backformation 
 

The inflection process turning 'sink' into 'sank' is called: 

Umlaut 

Ablaut 

Suppletion   

Conversion 

 

 

……….GENERALLY involves verb inflection  In English 

Prefixing  

Suffixing 

Infixing 

Vowel harmony  

 

 ': restructuring ' are are there in the following wordbase forms  How many 

 One 

Two 

Three 

Zero 

 

Is English an infixing  language ? 

Yes 

No 

In some exceptional words 

 7341لمادة النحو و الصرف  الفصل الاول  النهائي  راسئلة الاختبا       

 مستوى سادس_ عبد الرحيم جماري . د                

 سؤال   05                                  
  

 المستقل لهذه الكلمة هو( الصرفية ) المورفيم 

 1لأنه اعطى معنى  بعد اسقاط الاضافات المحاضرة 

 ( infomercial)من بين هذه الكلمات الكلمة الانسب ل 

 3تشكيل كلمه بمزج كلمتين الامثله محاضرة / المزج 

ablaut =  تغير في صوت واحد فقط لحرف العله عند تغير وضيفته مثلا من ماضي الئ
 مضارع

umlaut =  دمج صوتي حرف عله متتابعه وكانهم صوت واحد 
ablaut= حرف واحد عله  

3محاضرة                      umlaut = حرفين عله 

 

 في الانجليزية الفعل المشتق  وطالب نوع الاضافة 

 2الامثلة مهمة محاضرة    lyهي لاحقة 

 

  rootوممكن يقول   baseكم عدد هذه الصيغ الاساسية لهذه الكلمة ممكن يقول 

Re    بريفكس  وing   1سوفيكس محاضرة 

 هل في الانجليزية لواحق وسطية  

بشكل عام هي شايعه بشكل قليل لكن حدد  طبعا الجواب لا السؤال التالي يوضح 

 1محاضرة  الانجليزية وهاللغه ما يعتبر فيها 
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In irregular pasts forms of the verb only 

 

In tagalong ' bili ' means ' buy' while ' binili '  means' bought'. Identify the 

morpheme marking the past in this language.  

-bin- 

-nil- 

-ini- 

-in- 

 

Which of the following  statement is correct: 

The semantic head of a clause is I 

The semantic head of a clause is V+I 

mantic head of a clause is VThe se 

The semantic head of a clause is C 

 

A Compound is a word that contains…….. 

One prefix and one word  

One suffix and one word 

Two root morphemes and one word 

Two word 

 

derivationChoose the group of words that results from  

Cry, cries ,cried, crying 

, unkind , kindness, kindly Kind 

Tooth, teeth 

King , kingdom, kingdoms 

 

 

……….is an example of backformation  

Edit 

Televise 

Donate 

Calculate 

 

……… occurs when a given utterance can receive more than one interpretation  

Surface meaning  

 Deep meaning 

Structural ambiguity 

External meaning  

  

في التغالوغ وهي لغه مستخدمه في الفلبين واعطاني كلمة ومعناها بالانجليزي بصيغه 

علما بان اللاحقة الوسطيه اوضمن كلمه هي اقل شيوعا  0000الماضي فان المورفيم هو 

 1ولكن تستخدم في الفلبين     محاضرة 

 

 :أي هذه العبارات صحيحة 

  Iبيكون الحل   head syntactic  theاخترنا المعنوي ولو غير بصيغة السؤال  

 6محاضرة 

 : المركبات تحتوي على 

  2جذر ومورفيم وكلمة المحاضرة  2

  DAاستخرج من مجموعه الكلمات اشتقاق 

 السبب لان هذا النوع من الاشتقاق يغير المعنى مختص بالفئة فقط 

لأنه يتعلق بحاله نحوية قرمر  aنختار   inflectionلو غير صيغة السؤال وقال 

 4محاضرة 

وهوتشكيل كلمه من حيث ازالة اللواحق فتطلع لنا كلمه : من امثلة التشكيل الخلفي 

 جديدة 

  3مهمة الامثلة محاضره 

 0000يعطي اكثر من تفسير واحد هو 

  9المعنى العميق محاضرة 
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Yes/No Questions are derived by the application of , French In  

C-to  –I -to  -V  

V- to -C 

I -to-V –to-C 

V to spec CP 

 

 :illustratesUNICEF  

An acronym 

A blend  

An example of clipping  

An example of backformation 

 

When a root is combined with an affix , it forms:  

An expanded root  

 A complex word 

An expanded base 

A simple word  

 

In the phrase ' the very beautiful white house ' the spec is  

The  

The very 

The very beautiful  

The very beautiful white  

 

s 'that makes the most significant contribution to a word morpheme ……….. is a

meaning:  

The phoneme 

The  derivational morpheme  

The inflectional  morpheme 

The root 

 

Affixes are:  

Free morpheme  

Independent words 

 Bound morpheme 

Base forms 

 

In generative grammar , the native speakers' knowledge of their own language is 

said to be:  

Explicit 

Implicit 

 لا يكون /في الفرنسية السؤال ب نعم 

 10المحاضره 

 المختصرات : تنطق يونسيف وهي من 

 غالبا بتنكتب كبتل  3المحاضرة   NATOومثالها ايضا 

 

 : تتكون من صرفيه وجذر مضافه اليها لاحقة هي 

 1الكلمات المركبة    محاضرة 

في العبارة  درجه الكلمه تحدد الصفة  السبيسفاير  specيسألني عن نوع 

  6تحدد الصفات دائما    محاضرة 

 : هو  مورفيم وهو اهم شي بالكلمة 

  4الجذر    محاضرة 

مقيد ولو تغيرت صيغه الخيارات واضاف الديرافشين  نختارها لانها برضه  مورفيم: اللواحق هي 

 لواحق 

  1بادئة لاحقة وسطية   محاضرة  3انواع اللواحق 

 الناطقين الاساسين للغة يعرفو ن كيف تنطق لغتهم : نحويا 

  9ومعناها ضمني   محاضرة    tacitlyضمنيا وممكن يكتب 
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Inherent 

Exquisite 

 

…………. refers to the speakers' actual use of language in real life situations  

Performance 

Competence  

Linguistics 

Syntax 

 

.tthe roo beforethat is attached  Is an affix........ 

A suffix 

A stem 

A root 

 A prefix 

 

:implicit knowledge of the rules of his language called  native speaker's heT 

Performance  

 Competence 

Syntax  

Linguistics  

 

it is said to  new words When a morphological rule can be frequently used to form

be: 

Productive 

Creative  

Intuitive  

Non- selective 

 

is  'ungratefulness ' in the word ssuffixeThe  

-ful 

fulness- 

-fatefulness  

-ness 

 

Generative grammar clams that a child is born with an innate predisposition  

To acquire any language on the basis of a set of universal principles called:  

Universal Grammar 

Minimalist Grammar  

Functional Grammar 

Word Grammar 

 

 اداه او تادية : شير الى الاستخدام الفعلي للمتكلمين باللغة في مواقف معينه  ي

  14من اسئله المراجعه محاضرة 

 : او قبل الجذر يسمى   front بدايةاللاحق الذي يرتبط في 

   1بادئة   محاضرة 

 : لقواعد اللغة هي ( ضمنية ) معرفة المتحدثين اللاواعية 

 كفاءة 

 يستخدم يشكل كلمات جديدة  يعني ينتج كلمات جديدة 

   الانتاجيه

ونلاحظ  طلبني جمع لواحق اذا نختار اللاحقتين مهم نقرا : هذه الكلمة هي اللواحق ل

 السؤال ونفهمه 

  2محاضرة  

القاعدة العامه ان الطفل يولد مع الاستعداد الفطري على اساس مجموعه من المبادئ 

 العالمية 

 جايبها بمعنى ضمني   5اعد العالمية   المحاضرة تدعى ب القو
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A morpheme is the smallest unit of: 

 Morphology 

Phonology 

Semantics 

Pragmatics 

 

The word 'had' in the sentence ' He had a shower ' is : 

A grammar word  

 A lexical word 

A function word 

A class word  

 

Which of the following illustrates 'compounding ' : 

Football 

Prep-school 

NATO 

E-commerce 

 

:, the constituents of a sentence or a phrase are represented tree diagram In a  

Linearly  

Hierarchically 

Randomly 

Unsystematically 

 

:is an example of  AIDS 

Backformation 

Acronym 

Clipping 

Neologism 

 

An allomorph is one of the possible realizations of a : 

Morpheme 

Phoneme 

Lexeme 

Syntagmeme 

 

:language is a language such as  VSOA  

English  

French 

Arabic 

Chinese 

 هو اصغر وحدة في جزئية الصرف: المورفيم  

 

 : في هذه الجملة هي  hadكلمة 

اسماء وصفات افعال وضمائر )كلمة معجمية لأنها من الفئات المعجمية وهي 

  5محاضره (    وأحوال 

 مستقلتين وانشأ لنا كلمه جمع لكلمتين  لأنها: أي من هذه الكلمات مركبة 

  2محاضرة 

 هرمي :  يكون تركيب الكلمات في الرسم الشجري والعبارات والجمل بشكل 

  5محاضرة 

 المختصرات وهو اختصار لمرض فقدان المناعه المكتسبة : هذا الرمز مثال على 

  3المحاضرة 

المورفيم او اشكال مختلفه من المورفيم لديها : الالومورفيم هو احدى انجازات 

  1طريقتين او اكثر بالنطق   محاضرة 

 مفعول به ترتيب جملة صحيحه باللغه العربية  o فاعل و  s فعل و  vعلما بان  

AN
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على حسب وجودها في الجمله had تختلف الاجابه 
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Category changing morphemes are said to be : 

 Derivational 

Inflectional 

Functional 

Positional 

 

recall him saying that he wanted to  ' Iin the sentence FINITE verb -NON Identify the

leave:  

Want to leave 

Want 

Wanted to leave 

To leave 

 

The lexical is a :  

 Mental dictionary 

Dictionary 

Glossary 

Word-list 

 

Lexical words  include : 

Pronouns 

Determiners 

Conjunction 

 Word with lexical or dictionary meaning 

 

The lexicon lists : 

Simple words 

Complex words 

Complex constituents 

Words , affixes and constituents 

 

is  "she drank coffee, In the kitchen " in the sentence  'kitchen  the in' PPThe  

Modifier 

Adverbial 

Ambiguous 

Prepositional 

 

The word 'Constitution ' has 

One morpheme 

Two morphemes 

 2سابقا محاضره شرحناها :  الفئة التي تغير المورفيم هي 

 :لايتاثر بزمن ولا اشخاص والعدد من امثلته  FINITE verb-NONنوع الفعل ل 

After\ to –must-should   وبقيه افعال المودل 

After \ have –has –had        v+ing  

 الغالب يقصد الكلمات المشتقة تصبح معجميه فتدخل القاموس العقلي 

  2محاضره 

 : الكلمات الفظية تشمل 

 كلمات معاجم ومعنى قاموس 

 : قائمة المعاجم هي 

 كلمات ولواحق واساسيات وقوائم 

 يسألني عن العبارة هي عبارة حرف جر

   Constituteحر    مورفيم 2: يسألني عن الكلمة كم فيها مورفيم 

Ion   1مقيد    محاضرة      
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Three morphemes 

Four morphemes   

 

An allomorph of the plural morpheme in English  NOTOne of the following is     

[s] after[t],[k],[p] as in 'bits ,tips ,tacks' 

[iz] after sounds like [s] , [z] as in 'sneezes , bosses' 

[z] after [d], [g] , [n] as in ' dogs, pads, hens' 

as in 'oxen' and 'children'[en]  

 

In the sentence 'being such a shy person , hated to meet in cafes to chat ' , the 

is  FINITE verb 

Hated 

Being 

Meet 

Chat 

 

In morphology , we study  

Affix structure  

Prefix structure 

Word structure 

Suffix structure 

 

In SVO language , …………….?  

Complements follow their heads 

Complements precede their modifiers 

Complements precede their heads 

Complements are optional 

 

Which of the following statements is correct  

A derivational affix affixes to a base before an inflectional  

 A derivational affix attaches before  an inflectional one 

A derivational affix attaches before and after an inflectional one 

A derivational affix never occurs with an inflectional one 

 

 

The word 'buildings' can be morphologically analyzed into which of the following  

Build- ings 

Building- s 

s-ing-Build 

Buildings 

 

وهو معروف يخص (  النكرة )واحدة من هذه ليست الاومرفيز

النطق  والصوت وله ثلاث انواع اول حروف الساكنة والعلة 

 والجمع 

  1محاضرة 

 نطبق القاعدة السابقة الاشخاص والعدد  بالزمن و يتأثر معاكس للسؤال السابق يطلب الفعل اللي ما

 يدرس بنية الكلمه: علم الصرف 

 تتبع الراس لاتسبقه :المكملات هنا  SVOفي اللغه  

 8الشرح محاضرة 

 :أي العباره التالية صحيه 

الاشتقاق قبل التصريف نف لبريفكس قبل 

 الكلمه 

 : التحليل التركيبي لهذه الكلمة هي 

 مقاطع  3واضحة 
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What determines the grammatical category of a compound is:  

The rightmost word 

The leftmost word 

The rightmost and the leftmost words together  

Neither the rightmost nor the leftmost word  

 

In English , inflection is : 

 More productive than derivation 

Less productive than derivation  

As productive as derivation 

Noun-based only  

 

The derivation of a Yes/No Question in English of the movement of : 

V – TO – Spec of IP 

V – to –I 

C –to  –I  

V – to – Spec of CP 

 

words make up a ' the underlined student very intelligent a In the following string '  

(n): 

AP 

ADV P 

NP 

PP 

 

The inflectional morpheme in 'teachers' is  

Teach- 

-er 

-ers 

s- 

 

 

  
 

_____________________________ 

 

 

 
 

 الكلمه التي تقع اقصى اليمين : يحدد الفئة النحوية للكلمات  مالذي

 اسم تكون اسم واذا كانت فعل تكون الكلمة فعل 

 2محاضرة 

في اللغة اللواحق التصريفية وهنا المقارنه من ناحية الانتاجية لها استثناءات في 

 قاعدتها واكثر مرونه من الاشتقاقية 

 لا / اسئله نعم : في اشتقاق الانجليزية 

 طبعا ثابتة 

جملة في اولها صفه طرف درجه التي : في العبارة التاليه الكلمة التي تحتها خط تشكل 

 تأتي لتأكيد الصفه ولا تغير نوعها حيث ان 

A :adj        p: phrase  

 ولا يغيرطالب بالسؤال أي من هذي تصريف والتصريف اللي يختص بالجمع والزمن 

 معنى 

 نختار الجواب الثاني    DAلوطلب مننا 




